CHAIR WITH SCREEN:
HANGING CLEATS
ARE PRE-INSTALLED

CAAV ON PANEL

STAND UP SURFACE INSTALL

Recommended tools

AR
il

#2 Phillips Head UNIT WILL COME PACKED IN MULTIPLE BOXES:

@ * 15T box will contain the chair with screen
* Remaining box(s) will contain the top panel and

leg supports
Hardware enclosed g supp

o \ Yy STEP 1:

e Attach rear leg supports to screen by aligning

“L” Brackets — 1 per leg support the cleat on the back of the screen to the

#8 x 1-% pan head screws — 1 per leg support hanger inside the rear leg support.

#8 x 7/8 flat head screw — 6 per leg support PA N E L I

#8 x %5 pan head screw — 2 per leg support HAN G E R

CLEAT

NOTE: all screws provided must be
installed for proper installation and
compliance with product warranty.

E J S | @ 225 CLAY STREET JASPER, INDIANA 47546 &Q 800.457.4511 TOLLFREE  812.482.3204 OFFICE @ JSIFURNITURE.COM



STEP 2: STEP 3:
+  Apply downward pressure on the leg assembly to fully * Place the work surface on top of the support plates.

engage the cleat and the hanger * Align pilot holes in top with holes in plate
* Lock the leg support down with a #8x1-1/2 pan head * Use the #8x7/8 flat head screws to fasten top in place.
CAAV screw thru the top of the rear support as shown. Only

do this with the hand screw driver — fasten slowly — you
may torque down with drill after hand tightened- This
will help avoid pulling threads or foam when installing.

STAND UP SURFACE INSTALL

Recommended tools

#2 Phillips Head

e

Hardware enclosed

PNy

“L” Brackets — 1 per leg support

#8 x 1-% pan head screws — 1 per leg support
#8 x 7/8 flat head screw — 6 per leg support
#8 x %5 pan head screw — 2 per leg support

NOTE: all screws provided must be
installed for proper installation and
compliance with product warranty.

E J S | @ 225 CLAY STREET JASPER, INDIANA 47546 &Q 800.457.4511 TOLLFREE  812.482.3204 OFFICE @ JSIFURNITURE.COM



STEP 4 (optional): STEP 5:

* Apply “L” brackets to the bottom of the top if additional « Properly level unit using the leveling glides
stability is desired.
CAAV * Install using the #8x1/2 pan head as shown below. Only do
this with the hand screw driver — fasten slowly — you may * Install complete

torque down with drill after hand tightened- This will help
avoid pulling threads or foam when installing.

STAND UP SURFACE INSTALL

Recommended tools

#2 Phillips Head

e

Hardware enclosed

PNy

“L” Brackets — 1 per leg support

#8 x 1-% pan head screws — 1 per leg support
#8 x 7/8 flat head screw — 6 per leg support
#8 x %5 pan head screw — 2 per leg support

NOTE: all screws provided must be
installed for proper installation and
compliance with product warranty.

E J S | @ 225 CLAY STREET JASPER, INDIANA 47546 &Q 800.457.4511 TOLLFREE  812.482.3204 OFFICE @ JSIFURNITURE.COM



